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Capacity t02.5V(@500mA@1% duty cycle) 19Ah T, 33f I\ N
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Nominal voltage 3.6V '<>3 3.1: \\\ ‘\ ]
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Maximum 1 second pulse to 2.5V 3000mA 2ol \ \ |
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Maximum pulse length @500mA to 2.5V 1000sec 0001 001 01 1 10 100
Pulse Duration(sec)

Delay time to 3.0V @ 500mA  No Delay

Min. Voltage VS Temperature for 1 sec Pulse

Typical weight 140g 36 /ﬁ
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Operating temperature range  -40°C~+85C 32 ’/A
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The battery is designed specifically for applications 3.5 ‘\ NI
requiring low background currents combined with _ B ) =
high current pulse. The high pulse current battery > 30F \ -
combines the inherent benefitd of bobbin type lithium % 5 5F =
thionyl cell with a novel hermetically sealed Hybrid = F \ -
Pulse Capacitor(HPC). The addition of the HPC enhances = 2.0 1500 o0 T80 oo Tako ]
the performance of the lithium thionyl chloride cell to . - ) (81080 (15,081 (13 390 17.0A]
meel large pulse current requirements, thus providing TE J =
greater performance and safety in comparison to jellyroll Y 1T AT RV N MR T M WRNTIT =
construction (spirally wound) type batteries. 1 10 10 10 10 10
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